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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 



 [ 2 ] S–793 

 (A-84) 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain Disinflation and Stagflation with  

examples. 

mnkgj.kksa dh lgk;rk ls foLQhfr ,oa LQhfrc) xfrjks/k dks 

le>kb,A 

2. Analyse the process of credit creations of Commercial 

banks. 

okf.kfT;d cSadksa dh lk[k l`tu dh izfØ;k dh foospuk 

dhft,A 

3. What are the components and determinant factors of 

money supply ? Explain. 

ekSfnzd iwfrZ ds la?kVd ,oa fu/kkZjd rRo D;k gSa \ O;k[;k 

dhft,A 

4. Distinguish between Balance of Trade and Balance of 

Payment. What do you mean by autonomous transfer 

of capital ? Explain. 

O;kikj larqyu ,oa Hkqxrku larqyu esa Hksn Li”V dhft,A 

iw¡th ds Lok;Ÿk LFkkukUrj.k ls vki D;k le>rs gSa \ O;k[;k 

dhft,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Describe the contingent functions of money. 

eqnzk ds vkdfLed dk;ks± dk o.kZu dhft,A 

2. What do you mean by International Gold Standard ? 

Illucidate. 

vUrjkZ”Vªh; Lo.kZeku ls vki D;k le>rs gSa \ le>kb,A 

3.  Analyse Cambridge Cash Balance Approach. 

dSfEczt ds udn ‘ks”k n`f”Vdks.k dh O;k[;k dhft,A 

4. Methods of Credit Creation by Commercial Banks. 

O;kikfjd csadksa }kjk lk[k l̀tu djus dh fof/k;k¡A 

5. Compare between Private goods and Public goods. 

futh oLrq ,oa lkoZtfud oLrq dh rqyuk dhft,A 

6. Theories of Incidence of Taxes. 

djkikr ds fl)kUrA 
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7. Difference between free trade and production. 

eqDr O;kikj ,oa laj{k.k esa Hksn dhft,A 

8. Direct and Indirect methods of exchange control. 

fofue; fu;a=.k dh izR;{k ,oa vizR;{k fof/k;k¡A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. Ricardo‘s law of comparative costs is based on : 

(a) The opportunity cost theory 

(b) The labour theory of value 

(c) The law of diminishing returns 

(d) All of the above 

fjdkMksZ dk rqyukRed ykxr fl)kUr vk/kkfjr gS % 

¼v½ volj ykxr fl)kUr 

¼c½ ewY; dk Je fl)kUr 

¼l½ kleku izfrQy dk fu;e 

¼n½ mi;qZDRk lHkh 
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2. If a nation‘s turns of trade is 2, its trade partner‘s terms 

of trade is : 

(a) 4 

(b) 2 

(c) 1 

(d) 
1

2
  

;fn ,d ns’k dh O;kikj ‘krZ 2 gS rks mlds O;kikj lkFkh dh 

O;kikj ‘krZ gksxh % 

¼v½ 4 

¼c½ 2 

¼l½ 1 

¼n½ 
1

2
 

3. Dynamic factors in trade theory refer to change in : 

(a) Factor endowments 

(b) Technology 

(c) Tastes 

(d) All of the above 

O;kikj ds fl)kUr ds izkoSfxd dkjd fuEufyf[kr esa 

ifjorZu dks lwfpr djrs gSa % 

¼v½ lk/ku cgqyrk dks 

¼c½ rduhd dks 

¼l½ #fp dks 

¼n½ mi;qZDRk lHkh  
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4. Under a flexible exchange system, the exchange rate is 

determined by : 

(a) the nation‘s monetary authority 

(b) the price of gold 

(c) the forces of demand and supply in the foreign 

exchange market. 

(d) Exchange arbitrage 

yksp’khy fofue; nj iz.kkyh esa fofue; nj dk fu/kkZj.k 

gksrk gS % 

¼v½ ns’k ds ekSfnzd vf/kdkjh }kjk 

¼c½ Lo.kZ dh dherksa ls 

¼l½ fons’k fofue; cktkj esas] ek¡x ,oa iwfrZ dh ‘kfDr;ksa ds 

}kjk 

¼n½ fofue; vUri.kZu ls 

5. Automatic adjustment of balance of payments 

disequilibria can be brought about the variations in : 

(a) International prices 

(b) External prices 

(c) Income 

(d) All of the above 

Hkqxrku larqyu esa vlarqyu dk Lor% lek;kstu fuEufyf[kr 

esa fdlesa ifjorZu }kjk izkIr fd;k tk ldrk gS \ 

¼v½ vUrjkZ”Vªh; dhersa 

¼c½ cká dhersa 

¼l½ vk; 

¼n½ mi;qZDRk lHkh 
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6. The supply curve of foreign exchange of a nation is 

derived from : 

(a) the foreign demand curve for the nation‘s exports 

(b) the nation‘s supply curve of imports 

(c) the nation‘s demand curve for imports 

(d) the foreign supply curve of the nation‘s imports 

,d ns’k ds fons’kh  fofue; dk iwfrZ oØ O;qRikfnr fd;k 

tkrk gS % 

¼v½ ns’k ds fu;kZrksa gsrq fons’kh ek¡x oØ }kjk 

¼c½ ns’k ds vk;krksa ds iwfrZ oØ }kjk 

¼l½ ns’k ds vk;krksa ds ek¡x oØ }kjk 

¼n½ ns’k ds vk;krksa ds fons’kh iwfrZ oØ }kjk 

7. Trade and exchange controls refer to : 

(a) Tariffs 

(b) Quotas 

(c) Restrictions in international capital movements 

(d) All of the above 

O;kikj ,oa fofue; fu;a=.k lwfpr djrk gS % 

¼v½ iz’kqYd 

¼c½ vH;a’k 

¼l½ vUrjkZ”Vªh; iw¡th xfr;ksa esa izcU/k 

¼n½ mi;qZDRk lHkh 

8. The  man who connected economic development with 

the evolution of credit was : 

(a) Hildebrand 

(b) Bucher 

(c) Bocke 

(d) Milton Friedman 
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og O;fDr ftlus vkfFkZd fodkl dks lk[k ds mn~Hko ls 

lEcfU/kr fd;k % 

¼v½ fgYMsczk.M 

¼c½ cwpj 

¼l½ cwds 

¼n½ feYVu ÝhMeSu  

9. Which one of the following is called ‗money‘ ? 

(a) Gold money 

(b) Silver money  

(c) Paper currency 

(d) All of the above 

fuEufyf[kr esa ls fdls ^eqnzk* dgk tk;sxk \ 

¼v½ Lo.kZ eqnzk 

¼c½ jtr eqnzk  

¼l½ i= eqnzk 

¼n½ mi;qZDRk lHkh 

10. Which one of the following economists presents the 

equation M = kPT ? 

(a) Marshsll (b) Pigou 

(c) Keynes (d) Robertson 

fuEufyf[kr esa ls fdl vFkZ’kkL=h us M = kPT lehdj.k 

izLrqr fd;k \ 

¼v½ ek’kZy ¼c½ ihxw 

¼l½ dhUl ¼n½ jkcVZlu 
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